1. What is the primary cause of all changes in the Earth’s weather:- 

a) Variation of solar energy at the earth’s surface

b) Changes in air pressure over the earth’s surface

c) Movement of air masses from moist areas (o dry areas)

2. where is the usual location of a thermal low? 

a) Over the arctic region

b) Over the eye of hurricane 

c) Over the surface of a dry, sunny region

3. where is the usual location of a thermal low? 

a) Ascending from the surface high to lower pressure at higher altitudes.

b) Descending to the surface and then outward

c) Moving outward form the high at high altitude and into the high at the surface

4. at lower levels of the atmosphere, friction causes the wind to flow across into low because the friction

a) Decreases wind speed and Coriolis force

b) Decreases pressure gradient force

c) Creates air turbulence and raises atmospheric pressure

5. at which location the Coriolis force has least effect on wind direction 

a) At the poles

b) Middle latitudes 

c) At the Equator

6. How does Coriolis force affect wind direction in the Southern Hemisphere

a) Causes clockwise rotation around a low

b) Causes wind to flow out of a low toward a high

c) Has exactly the same effect as in the Northern Hemisphere

7. which weather condition is defined as an anticyclone?

a) Calm

b) High pressure

c) Col

8. which area or areas of the Northern Hemisphere experience a generally east to west movement of weather system

a) Artic only

b) Subtropical only

c) Artic 7 Subtropical

9. what weather feature occurs at altitudes levels near the Tropopause?

a) Maximum winds and narrow wind shear zones

b) Abrupt temperature increase above the Tropopause

c) Thin layers of cirrus (ice crystal) clouds at the Tropopause

10. Which feature is associated with the tropopause

a) Absence of wind and turbulence 

b) Absolute upper limit of cloud formation

c) Abrupt change of temperature lapse rate

11. Where jet streams are normally located?

a) In areas of strong low pressure systems in the stratosphere 

b) At the Tropopause where intensified temperature gradients are located

c) In a single continuous band, encircling, the earth. Where there is a break between tile equatorial anti polar Tropopause 

12. Which type of clouds may be associated with a jet stream

a) Cumulonimbus cloud line where the jet stream crosses the cold frond

b) Cirrus clouds on the equatorial side of the jet stream

c) Cirrostratus cloud band on the, polar side and under the jet stream

13. Where do tile maximum winds associated with tile jet stream usually occurs.

a) In the vicinity of the beaks in the Tropopause on the polar side of the jet core

b) Below the jet core where a long straight stretch of jet stream is located.

c) On the equatorial side of the jet stream where moisture has formed cirri-form clouds. 

14. what term describes an elongated area of low pressure?

a) Trough

b) Ridge

c) Hurricane or typhoon

15. What is a feature of a stationery front?

a) The warm front surface moves half the speed of the cold front surface

b) Weather conditions are combination of strong cold front & strong warm front weather

c) Surface winds tend to flow parallel to the frontal zone

16. Which event usually occurs after an aircraft passes through a front in to a colder air.

a) Temperature dew point spread decreases

b) Wind direction shifts to the left

c) Atmospheric pressure increases

17. what type of weather change is to be expected in an area where fronto-lysis is reported?

a) The frontal weather is becoming stronger

b) The front is dissipating

c) The front is moving at a faster speed

18. Which atmospheric factor causes rapid movement of surface fronts?

a) Upper winds blowing across the front

b) Upper low located directly over the surface low

c) The cold front overtaking and lifting the warm front

19. in which meteorological conditions can frontal waves and low pressure areas form?

a) Warm fronts or occluded fronts 

b) Slow-moving cold fronts or stationery fronts 

c) Cold front occlusions

20. which weather condition is present when a tropical storm is upgraded to a hurricane 
a) higher wind speed 100 K or more

b) A clear area or a hurricane eye has formed

c) Sustained winds of 60 K or more.

21. where is the normal location of jet stream relative to surface lows & fronts 

a) The jet stream is located north of the surface system 

b) The jet stream is located south of the low & warm front

c) The jet stream is located over the low and crosses both the warm front and the cold front.

22. which primary source contains information regarding the expected weather at the destination airport at ETA? 

a) Low level Prognostic Chart

b) Radar Summary and Weather Depiction Charts

c) Terminal Forecast

23. which term applies, when the temperature of the air changes by compression or expansion with no heat added or removed?

a) Katabatic

b) Advection 

c) Adiabatic

24. which process causes adiabatic cooling?

a) Expansion of air as it rises

b) Movement of air over colder surface

c) Release of latent heat during vaporization process

25. which type of wind flows down slope becoming warmer and dryer?

a) Land breeze 

b) Valley wind

c) Katabatic wind

26. which is the approximate rate at which unsaturated air will cool flowing upslope 

a) 3* C per 1000 ft

b) 2* per 1000 ft

c) 4* C per 1000 ft

27. What weather condition occurs at the altitude where the dew point lapse rate and the dry adiabatic lapse rate converge?

a) Cloud bases form

b) Precipitation starts

c) Stable air, changes to unstable air

28. When saturated air moves down hill, its temperature increases

a) At a faster, rate than dry air because of the release of latent heat

b) At al slower rate than dry air because vaporization uses heat

c) At a slower rate than dry air because condensation releases heat

29. What feature is associated with a temperature inversion?

a) A stable layer of air

b) An unstable layer of air

c) Air mass thunderstorms

30. What is indicated about an air mass if the temperature remains unchanged or decrease slightly as altitude is increased?

a) The air is unstable

b) A temperature inversion exists

c) The air is stable

31. Which condition is present when a local parcel of air is stable

a) The parcel of air resists convection 

b) The parcel of air can not be forced uphill

c) As the parcel of air moves upwards, its temperature becomes warmer than surrounding air

32. how can the stability of atmosphere be determined?

a) Ambient air temperature lapse rate

b) Atmosphere pressure at various level 

c) Surface temperature dew point spread

33. What characterizes a ground based inversion

a) Convection currents at the surface

b) Cold temperatures

c) Poor visibility

34. What condition produces the most frequent type of ground or surface based temperature inversion?

a) The movement of colder air under warm air or the movement of warm air over cold air

b) Widespread sinking of air within a thick layer aloft resulting is hearing by compression

c) Terrestrial radiation on a clear, relatively calm night

35. how are hazes layers cleared or dispersed?

a) By convective mixing in cool night air

b) By wind or the movement of air

c) By vaporization similar to the clearing of fog

36. Which conditions are necessary for the formation of up slope fog?

a) Moist, stable air being moved over gradually rising ground by a wind

b) A clear sky, little or no wind, and 100 percent relative humidity 

c) Rain falling through Stratus clouds and a 10 to 25 knot wind moving the precipitation up the slope.

37. when advection fog has developed, what may tend to dissipate or lift the fog into low Stratus clouds 

a) Temperature 

b) Wind stronger than 15 knots

c) Surface radiation

38. if squalls are reported at the destination airport, what wind condition, expected at the time 

a) sudden increases in wind speed of at least 15 kts lasting for at least on minute

b) peak gusts of at least 35 kts for a sustained period on one minute or longer

c) rapid variation in wind direction of at least 20* and changes in speed of at least 10 kts between peaks and lulls

39. what minimum thickness of cloud layer is indicated if precipitation is reported as light or greater intensity 

a) 4,000 ft thick,

b) 2,000 ft thick, 

c) A thickness which allows the cloud tops to be higher than the freezing level 

40. which weather phenomenon signals the beginning of the mature stage of a thunderstorm 

a) appearance of an anvil top 

b) Start of rain at the surface

c) Growth rate o cloud at its maximum

41. during the life cycle of a thunderstorm, which stage is characterized predominantly by down drafts?

a) cumulus

b) Dissipating

c) mature

42. what feature is normally associated with the cumulus stage of a thunderstorm 

a) beginning of rain at the surface

b) frequent lightening

c) Continuous updraft

43. why are down drafts in a mature thunderstorm hazardous 

a) downdraft are kept cool by cold rain which tends to accelerate the downward velocity 

b) Downdraft converge toward a central location under the storm after striking the surface

c) Downdrafts become warmer than the surrounding air and reverse into an updraft before reaching the surface.

44. Where do squall lines most often develop? 

a) in an Occluded front

b) Ahead of a cold front

c) Behind a stationary front

45. Which measurement is reported as runway visibility? 

a) visibility report by a ground observer from the airport control tower

b) Slant range visibility in the landing area of the active runway

c) Distance down tile runway a pilot can see unlighted objects

46. Which type of storms are most likely to produce funnel clouds or tornadoes 

a) air mass thunderstorms

b) Cold front or squall line thunderstorms

c) Storms associated with icing. And super cooled water

47. Which type of cloud is associated with violent turbulence and a tendency towards the production of funnel clouds

a) cumulonimbus

b) Standing lenticular

c) Stratocumulus 

48. Which weather condition is example of a non frontal instability band 

a) squall line

b) Adjective log

c) Frontognisis 

49. Atmospheric pressure changes due to thunderstorms will be at the lowest value 

a) During downdraft & heavy rain showers. 9871323757

b) When a thunderstorm is approaching 

c) Immediately after rain showers have stopped.

50. what is indicated by the term “embedded thunderstorms” 

a) severe thunderstorms are embedded in a squall line

b) thunderstorms are predicated to develop in stable air mass

c) thunderstorms are obscured by other types of clouds

51. A clear area in a line of thunderstorm echoes on a radarscope indicates 

a) the absence of clouds in the area

b) An area of no convective turbulence 

c) An area where precipitation drops are not detected

52. when flying over the top of a severe thunderstorm, the cloud should be over flown by at least 

a) 1,000 ft for each 10 knots wind speed

b) 2,500 ft

c) 500 ft above any moderate to severe turbulence layer

53. which is a definition of “severe wind Shear” 

a) Any rapid change of horizontal wind shear in excess of 25 K vertical shear excepted

b) Any rapid change in wind direction or velocity which causes airspeed changes greater than 15 K or vertical speed changes greater than 500 ft/minute

c) Any change of airspeed greater than 20 K which is sustained for more than 20 seconds. Or vertical speed change is excess in excess of 100 feet/Minute

54. clear air turbulence (CAT) associated with, a mountain wave may extend as fat at:

a) 1000 miles or more downstream of the mountain 

b) 5,000 it above the Tropopause 

c) 100 miles or more upwind of the mountain

55. what is a likely location of clear air turbulence?

a) In an upper trough on the polar side of a jet stream 

b) Near a ridge aloft on the equatorial side of a high pressure flow

c) Downstream of the equatorial side of a jet stream

56. which type of jet stream can be expected to cause the greater turbulence?

a) A straight jet stream associated with a high pressure ridge

b) A jet stream associated with a wide isotherm spacing

c) A curving jet stream associated with a deep low pressure trough

57. which action is recommended if a jet stream turbulence is encountered with a direct head wind or tail wind 

a) Increase airspeed to get out of the area quickly

b) Change heading to fly on the polar side of the jet stream

c) Change altitude or heading to avoid a possible elongated turbulent area

58. what action is recommended regarding, an altitude change to get out of jet stream turbulence? 

a) Descend if ambient temperature is falling

b) Descent if ambient temperature is rising

c) Maintain altitude if ambient temperature is not changing

59. what action is recommended when encountering turbulence due to a wind shift associated with a sharp pressure trough?

a) Establish a course across the trough

b) Climb or descend to a smoother level

c) Increase speed to get out of the trough as soon as possible

60. what is the general direction of movement of a hurricane located in the Caribbean or Gulf of Mexi60 Region?

a) Northwesterly curving to northeasterly 

b) Westerly, until encountering land, then easterly

c) Counter clockwise over open water, then dissipating outward over land

61. what weather conditions are indicated on a surface weather Chart

a) Actual sky cover, visibility restrictions, and type of precipitation at reporting stations 

b) Forecast ceilings and visibilities over a large geographic area

c) Actual en route weather conditions between reporting stations

62. what is an important characteristic of wind shear?

a) It is primarily associated with the lateral vortices generated by thunderstorms 

b) It usually exists only in the vicinity of thunderstorms, but may be found near a strong temperature inversion.

c) It may be associated with either a wind shift or a wind speed gradient it any level in the atmosphere 

63. where can the maximum hazard zone caused by wind shear associated with thunder storm may be found

a) In front of a thunder storm cell (anvil side) & on the south west side of the cell

b) Ahead of the roll clouds or gust front & directly under the anvil cloud 

c) On all sides & directly under the thunderstorm cell

64. which the necessary condition for occurrence of a low level temperature inversion wind shear 

a) The temperature differential between the cold layer & the warm layer must be 10 deg c

b) A calm or a light wind near the surface & a relatively strong wind just above the inversion 

c) A wind direction difference of at least 30 deg between the wind near the surface & the wind above the inversion

65. what is the expected duration of an individual microburst? 

a) Five minutes with maximum winds lasting approximately 2 to 4 minutes

b) One microburst may continue for as king as an hour

c) Seldom longer than 15 minutes from the time the burst strikes the ground until dissipation 

66. Maximum down draft in a microburst encounter may be as strong as

a) 1,500 ft/min

b) 4,500 ft/min

c) 6,000 ft/min

67. an aircraft the encounters a headwind of 40 kts. Within a microburst. May expect a total shear across the microburst of 

a) 40 k

b) 80 k

c) 90 k

68. what is the lowest cloud in the stationary group associated with a mountain wave 

a) Rotor cloud 

b) Standing lenticular

c) Low stratus

69. maximum down drafts in a microburst encounter may be as strong as 

a) 8,000 ft/min

b) 7,000 ft/min

c) 6,000 ft/min

70. what is the expected duration of all individual microburst?

a) Two minutes with maximum winds lasting approximately 1 minute

b) One microburst may continue for as long as 2 to 4 hours

c) Seldom longer than 15 Minutes from the time the burst strikes the ground until dissipation 

71. the PIC of an aircraft en route determines that icing conditions can be expected, that might adversely affect the safety of the flight Which action is appropriate 

a) The pic & the company dispatcher must jointly decide whether or not the flight may continue to the original destination

b) The PIC shall not continue the flight in to the icing conditions

c) The flight may continue to the original destination airport provided all anti icing & de icing equipment is operational & is used 

72. which condition results in the formation of frost 

a) The temperature of the Collecting surface is at or below freezing

b) Dew collects on the surface and then freezes because the surface temperature is lower than the air temperature.

c) Temperature of the collecting surface is below dew point & dew point is also below freezing.

73. when will frost most likely to form on the aircraft surface

a) on clear nights with stable air and light winds

b) on overcast nights with freezing drizzle Precipitation 

c) On clear nights will, convective action and a small temperature & dew point spread

74. turbulence encountered above 15,000 ft AGL, not associated with clouds is called

a) convective turbulence 

b) High altitude turbulence 

c) Clear air turbulence

75. which type of cloud is indicative of very strong turbulence

a) Nimbo Stratus

b) Standing lenticular

c) Cirrocumulus

76. which is the feature of super cooled water?

a) the water drop sublimates to an ice particle upon impact 

b) The unstable water drop freezes upon striking an exposed object

c) The temperature of the water drop remains at O’ C until it impacts a part of the airframe then clear ice accumulates

77. what condition is necessary for the formation of structural icing in flight?

a) super cooled water drops

b) Water vapor

c) Visible water

78. which type office is associated with the smallest size of water droplet similar to that found in low level Stratus clouds

a) Clear ice

b) Frost ice

c) Rime ice

79. freezing rain encountered during climb is normally evidence that

a) a climb can be made to a higher altitude without encountering more than light icing 

b) a layer of warm air exists above

c) ice pellets at higher altitudes have changed to rain with the warm air below

80. which type precipitation is an indication that super cooled water is present

a) wet snow

b) freezing rain

c) Ice pellets

81. what condition is indicated when ice pellets are encountered during flight

a) thunderstorms at higher levels

b) Freezing rain at higher levels 

c) Snow at higher levels 

82. what temperature condition is indicated if precipitation in the form of wet snow occurs during flight

a) the temperature is above freezing at the flight altitude

b) The temperature is above freezing at higher altitude

c) There is an inversion with colder air below 

Part II
1. during ascending the rate of fall of pressure per 1000 ft of height

a) Increases with the altitude

b) Decreases with altitude

c) Does not change with altitude

2. In area where upper air mean temperature is relatively high upper level pressure is 

a) Relatively high

b) Relatively low

c) Remains same

3. In area where upper air mean temperature is relatively low upper level pressure is 

a) Relatively high

b) Relatively low

c) Remains same

4. The height equivalent to a Hpa change in pressure in temperate latitude at MSL is 

a) 27 feet

b) 30 feet

c) 40 feet

5. the height equivalent to a Hpa change in pressure in mid-latitude at 20000 feet is

a) 30 feet….

b) 50 feet

c) 100 feet

6. the height of 700 Hpa pressure level above MSL in I.S.A. condition is

a) 5000 feet….

b) 10000 feet

c) 15000 feet

7. which does not signify the pressure system

a) Trough

b) Ridge

c) Standing wave

8. which does not signify the temperature 

a) Heat wave

b) Cold wave

c) Mountain wave

9. which represent the low-pressure area in Northern Hemisphere 

a) Cyclone 

b) Col

c) Anti-cyclone flow

10. wind blows in anticlockwise direction around a low pressure in southern Hemisphere 

a) True

b) False

11. wind is clockwise around a high pressure area in Northern Hemisphere

a) True

b) False

12. wind blows in a clockwise direction in a Tornado in Northern Hemisphere

a) True

b) False

13. cyclone always approaches to the coastal areas before it dissipates 

a) True

b) False

14. the isobars are usually closer in an anticyclone compared to a depression

a) False

b) True

15. which of the following law define the wind direction

a) Newton’s first law of motion 

b) Beaufort Scale

c) Buys ballot’s law

16. if stand with my back to the wind then low pressure area lie to the…. In Northern hemisphere and to the …. In southern hemisphere

a) Right left

b) Left right

c) Right right

17. buy Ballot’s law is valid for

a) Surface wind only 

b) Upper wind only 

c) All type of winds except wind at Equator and in some local wind phenomenon.

18. coriolis force arises due to the 

a) Revolution of the Earth

b) Rotation of the Earth

c) Circulation of the wind

19. the Geotropic wind at 20000 feet is approximately _that at the surface for the pressure gradient 

a) Same

b) Double

c) Triple

20. the direction of the Geotropic wind is 

a) Parallel to the contour 

b) Perpendicular to the contour 

c) In line at an angle of 45’ to the contour 

21. the Geotropic wind blows parallel to the contour having

a) Lower value of the contour on the right in Northern Hemisphere

b) Lower value of the contour on the left in Northern Hemisphere

c) Lower value of the contour on the right in southern Hemisphere

22. generally in clean weather conditions. RH.

a) Increase with height

b) Decrease with height

c) Remains same with weight in general in all latitudes

23. R.H. is least in the conditions of

a) Sandstorm

b) Thunder storm.

c) snowstorm

24. thermal wind is due to the 

a) Pressure gradient 

b) Temperature gradient

c) Rate of fall of pressure with height

25. the decrease of percentage in air density by a fall of pressure 10 hpa is equivalent to

a) By an increase of height of 100 feet

b) By an increase of height of 300 feet

c) By an increase of height of 500 feet

26. which is not true for thermal wind?

a) The average thermal wind throughout the troposphere blows from west to cast.

b) Usually westerly component increases throughout the troposphere.

c) Easterly component increases throughout the troposphere in the winter season.

27. lapse rate in the stratosphere is

a) Positive 

b) Negative

c) Zero

28. the decrease of air density of about 1% would be produced by 

a) An increase of 10 Hpa of pressure 

b) A fall of 10 Hpa of pressure

c) A fall of 20 Hpa of pressure and rise of 5* C temperature.

29. the decrease of air density of about 1% would be produced by 

a) By an increase of temperature of 3* C

b) By an increase of temperature of 5* C

c) By an decrease of temperature of 6.5* C

30. Bumpiness is not experienced in the vicinity of  

a) Convective cloud

b) Fair weather cumulus 

c) The mountains when wind speed is less than 20 Ktd.

31. when air is saturated  

a) OAT<DP

b) OAT=DP

c) OAT>DP

32. the isobars are more close

a) In the beginning of N E Monsoon Season

b) In the beginning of Pre- Monsoon Season

c) In the beginning of SW Monsoon Season

33. If the change of pressure in negative then it is plotted in ………. Colour in the surface weather chart 

a) Red 

b) Blue

c) Black

34. the temperature in ISA in lower stratosphere is closer to 

a) 56* C

b) -6.5* C

c) -56.5* C

35. the lapse rate in troposphere in ISA is

a) 5*C/M

b) 10* C/km

c) 6.5* C/km

36. which is most appropriate in the stratosphere?

a) Completely dry and calm

b) Moist and strong Easterly winds prevails

c) Almost dry but some times RH is 2% in the lower stratosphere and Westerly wind prevail

37. break in Tropopause’ occurs over about

a) Equator

b) 40* lat

c) 60* lat

38. The density of air on the earth surface increases from Equator to pole while it follows reverse order from 20,000 feet to 40,000 feet

a) True 

b) False

39. global Warming in the phenomenon, which means 

a) Heating a globe

b) Bright sunshine 

c) Abnormal increase in the average temperature of the earth’s atmosphere

40. most dangerous result due to global warming being expected it

a) Polar ice will melt and sea level will increase up to 2 to 3 meters

b) Flying will not be possible in the troposphere

c) There will be no monsoon. Current over Indian sub-continent

41. the main cause of seasons and weather conditions are

a) Rotation of the earth on its own axis

b) Revolution of the earth round he sun

c) Tilting of the earth axis to its orbital plane

42. density of moist air as compared to the dry air is

a) Less

b) More 

c) Same

43. Geotropic wind is infinite at

a) Equator

b) Tropic of cancer

c) Pole

44. the amount of moisture required to saturate the warm air is

a) Is less than the cold air 

b) Is same as the cold air

c) Is more than the cold air

45. cyclostrophic force is a 

a) Centrifugal force

b) Centripetal force 

c) Geostrophic force

46. solar energy reaching to earth’s surface by

a) Convection

b) Conduction

c) radiation

47. mother of pearls’ clouds exist in the 

a) Troposphere

b) Stratosphere

c) thermosphere

48. noctilucent clouds occur in the 

a) Troposphere

b) Stratosphere

c) mesosphere

49. the height of the Tropopause is maximum in:

a) Polar region

b) Sub tropical region

c) Tropical region

50. in Tropopause the lapse rate is

a) Less than 2*c/km

b) More than 2*c/m

c) 0*/km

51. which is not true for tropical region? 

a) It lies between Latitude 30* N to 30* S

b) Trade winds prevail here.

c) High altitude flying conditions are unfavorable.

52. which is not true for Indian monsoon 

a) It is limited only to Indian region

b) Tibetan plateau has a significant role to govern the monsoon current.

c) Abnormal sea surface temperature of pacific ocean effect the strength of the nor soon 

53. “Roaring Forties” 

a) Are stronger westerlies in Siberian Highs.

b) Are stronger Easterlies associated with jet-stream

c) Strong Westerly wind blows steadily over oceanic region between 40* S. to 50* S.

54. the base of low clouds is determined by 

a) Pilot balloon

b) Radio Sonde

c) Weather Radar

55. the major distinction between depression & cyclone is 

a) Wind around a depression is clockwise & around a cyclone is anticlockwise in NH

b) Cb cells are severe in nature in a cyclone

c) Wind speed in a depression is up to Beaufort scale No. 7& in cyclone Beaufort scale No. 8 or more

56. equatorial trough is  

a) the relatively low pressure area near the Equator where trade winds from. Two hemispheres approach one another.

b) The relatively high-pressure area near the Equator.

c) The cyclone prevailing over equator

57. which statement is not true regarding SW Monsoon

a) 70% to 80% rainfall over Indian subcontinent is mainly due to SW monsoon

b) It is a Tropical Continental air mass which blows south westerly.

c) It is a land-sea breeze phenomenon on macro scale.

58. equatorial trough is zone of 

a) Convergence

b) Divergence 

c) col

59. an elr value between those of the salr and dalr indicates

a) Absolute Stability

b) Absolute instability 

c) Conditional instability

60. on a clear night over land area the stability of the lowest layers of the atmosphere

a) Will decrease 

b) Will not change

c) Will increase

61. the DALR value is

a) 1.5* C/1000 ft

b) 1.98* c/1000 ft

c) 3* c/1000 ft

62. for potential instability the relative humidity must:

a) decrease with increase of altitude 

b) remain constant with increase of altitude 

c) increase with increase of altitude.

63. which of the following statement is true

a) at surface levels, greatest instability normally in mid-morning, when clouds are funning fastest.

b) The lapse rate through a layer of cloud is less than the SALR if the conditions area

c) Generally, the ELR never greatly exceed the DALR value in unsaturated air, not exceed the SALR value in saturated air.

64. sheets of layer cloud in humid air are example of  

a) absolute stability 

b) absolute instability 

c) Neural Equilibrium

65. one of the main conditions for potential stability is

a) low RH at low levels and high RH at high levels

b) high rh at low levels and high RH at higher levels

c) RH remains same at all levels 

66. one of the main conditions for absolute instability is

a) ELR greater than DALR

b) ELR lesser than DALR

c) ELR equals to DALR

67. for super Adiabatic Lapse Rate conditions 

a) ELR<SALR

b) ELR<DALR

c) ELR>DALR

68. an illusion of an expanse of water on a runway is an example

a) cool surface and warm air above it

b) cold surface and comparatively cool air above it

c) hot surface and comparatively less warm air above it.

69. when an air parcel rise up, then

a) it contracts adiabatically and its temperature rises

b) it expands adiabatically and its temperature reduces

c) it neither contracts nor expands and its temperature remains constant

70. when air parcel descends down

a) it contracts adiabatically and its, temperature rises

b) it expands adiabatically and its temperature reduces 

c) it neither contracts nor expands and its temperature remains constant.

71. when air mass is rushing vertically down, wards

a) it temperature increases adiabatically and is called subsidence 

b) its temperature decreases adiabatically and is called convection 

c) its temperature doesn’t change and is called advection.

72. which statement of the following is correct

a) in a low pressure area, air is converging at the surface but diverging at higher levels.

b) in a high pressure area, air is converging at the surface but diverging at higher levels.

c) In a low pressure area, air is diverging at the surface but converging at Higher levels

73. suspension of dust in the air for longer period is an example of 

a) low R.H. and unstable lapse rate 

b) Low R.H. and stable lapse rate

c) medium R.H. and steel lapse rate

74. wet haze conditions indicate 

a) low R.H. and stable lapse rate 

b) high R.H. and unstable lapse rate

c) medium R.H. and steel lapse rate

75. development of isolated CU clouds in the day time is an example of

a) low R.H. and stable lapse rate 

b) medium R.H. and steel lapse rate

c) high R.H. and unstable lapse rate

76. a temperature inversion indicates state of the atmosphere, which is

a) absolutely stable

b) Absolutely unstable

c) Conditionally stable

77. an isothermal layer is a state of the atmosphere which is

a) absolutely stable

b) Absolutely unstable

c) Conditionally stable

78. most cloud formed due to air cooling

a) by conduction

b) by convection

c) adiabatically 

79. clouds with ‘stratus’ in their names are:

a) rain Bearing

b) layer type

c) composed only of water drops. 

80. which of the following cloud has the lowest base

a) altostratus

b) stratocumulus

c) stratus

81. if a thunderstorm 10 miles ahead is assessed as still being in the mature stage, the PIC of a light a/c 

a) still has lime to climb above the storm

b) still has enough visibility and terrain clearance to pass beneath the storm

c) should alter heading to circumnavigate the storm

82. heights at which clouds are found

a) do not vary with the seasons

b) are generally higher in summer than in winter

c) are generally lower in summer than in winter

83. a sheet of cloud, which is producing a halo around the sun is

a) cirrostratus

b) altostratus

c) Nimbostratus

84. when cumulonimbus cloud is reported in a meteorological observation

a) stratus may also be present

b) stratus will not he present

c) stratus and Nimbostratus will also be present

85. in a stable air stream producing or graphic cloud and precipitation, the cloud base on the wind ward side of the high ground will be

a) lower than the cloud base on the leeward side

b) higher than the cloud base on the leeward side

c) the same height as the cloud base on the lee ward side.

86. convective clouds over India in summer season

a) tend to show no diurnal variation

b) form by night and disperse by dry

c) form during day & disperse during night.

87. Which of the following statements, is not true

a) Virga is a type of precipitation which never reach the ground

b) Freezing rain reaching to the ground in liquid form & freezes immediately at the ground 

c) Drizzle always falls in showers

88. Which of the following is correct

a) Mist and fog will occur when the air in contact with the ground cool below dew point 

b) Fog or low stratus cloud with drizzle is called sleet

c) Mixing precipitation of snow & rain is called crachin

89. Which of the following statement is not true

a) Halo is caused by Cs & Corona is caused by As

b) Virga is a precipitation generally occurs from Ac

c) Lightening is caused by Cc

90. active E1-Nino Phenomenon causes 

a) heavy monsoon

b) moderate monsoon

c) weak monsoon

91. by weight the approximate ratio of oxygen to nitrogen in the atmosphere is 

a) 1:3

b) 1:4

c) 1:5

92. thunderstorms are caused by

a) thunder and lightening

b) anvil Cumulonimbus

c) Instability, high humidity, trigger action

93. frontal thunderstorms are mainly associated with

a) warm front 

b) cold front 

c) ridges of high pressure

94. orographic thunderstorms occur:

a) At any time during the 24 hours

b) Almost exclusively during the daylight hours

c) Mostly after dark, between sunset and 2 a.m.

95. heat thunderstorms occur ever land in cols because

a) The humidity and ELR may be high and the wind speed low

b) The land will be warmer then sea

c) Warm fronts frequently occur

96. generally in clear weather conditions, RH is more in tile

a) early morning

b) noon hours

c) early evening

97. If a cumulonimbus has developed a large anvil then,

a) its building stale is over

b) it has reached the beginning of the most active (mature) stage 

c) it is in the dissipating stage,

98. the most common type of aircraft icing is

a) frost 

b) rime ice

c) glaze ice

d) all above

99. in flight icing conditions are expected in india

a) In clear sky above fl 150

b) In cloudy weather above fl 150

c) In winter season, in clear sky below fl 150

100. of the two types of icing, glaze and time, the one of most concern to the pilot is 

a) Glaze ice because it forms from small fine water droplets and builds into frosty lumps usually encountered in stratus clouds.

b)  Glaze ice formed from large water droplets and encountered in cumuliform type of clouds. 

c) Rime ice because it forms from large water droplets which are lie confined to the leading edges and some water spread back by the airflow and freezes in the sticky form

101. when fog freezes on a parked aircraft it produces 

a) Hoarfrost

b) Rime 

c) Glazed frost

102. in rofor freezes on a parked aircraft it produces 

a) Moderate and severe

b) Light. Moderate and severe

c) Severe only

103. in flight rime icc would be expected when 

a) In rain at temperatures below 0*c

b) In small super cooled water droplets and the aircraft surface temperatures at 0*c

c) In towering cumuliform, cloud over nw Europe in temperatures 0*c

104. to minimize the effect of lightning striking an aircraft in flight, tile pilot should

a) Wear dark glasses and turn cockpit lights to maximum

b) Turn off all the radios and unnecessary electrical equipment 

c) Engage the auto pilot & relax & monitor

105. under which, of the following condition should carburetor icing be expected

a) Clear of cloud high humidity, + 13*c, aircraft gliding with throttle nearly closed,

b) In cloud low relative humidity, -23*c full throttle 

c) Clear of cloud, low humidity, -13*c full throttle

106. if carburetor icing is suspected when operating at cruising, power 

a) Selected full power and fully rich mixture

b) Select partial carburetor heat first to see if this is sufficient to clear the ice

c) Select partial carburetor heat 

107. if you are flying just above your safety altitude and at 1000 feet below the aircraft’s ceiling when you encounter clear ice in freezing rain you should

a) Fly through the rain as quickly as quickly as possible to clear the icing zone

b) Climb or descend for up to 15 minutes to see if the icing will stop 

c) Turn on to a reciprocal heading and seek atc clearance for a change of route

108. the optimum temperature range for sever icing to occur is

a) 0*c to -7*c

b) -7*C to -12c

c) -12*c to 20*c

109. frost point is the the lowest temperature to which air can be cooled without

a) sublimation

b) condensation

c) convection

110. which of the following, statement is not true for mantra level 

a) it is the level at which critical temperature will occur for the contrail formation

b) the critical temperature varies according to the relative humidity and pressure of the ambient air

c) Trail formation behind the jet aircraft will always takes place at mantra level

111. most favorable condition for the formation of radiation fog

a) high RH. convective instability and temperature is O*C

b) Moderate RH. With abundance of condensation nuclei, potential stability and temperature is sub-zero

c) High RH. Relatively stable air and surface temperature lies between 5C to 15 * C.

112. the conditions for the formation of steaming for are

a) Unstable lapse rate, high humidity, water warmer than the air

b) Inversion. Low air temperature, water much warmer than the air

c) High humidity, lapse rate approximately ISA. 

113. advection for forms:

a) Only over land

b) Only over sea

c) Over land and sea area

114. radiation fog forms most frequently in:

a) Anticyclones, ridges and cols

b) Troughs of low pressure 

c) Depressions and cols

115. you are making an early winter night cross-country flights over land and at the time of collection your forecast the surface conditions at your last landing point were cloudless, calm and the dew point temperature 3 C deg below the air temperature. Assuming that it is 2 hours before dawn and no change of air mass occurs the possibility of radiation fog at that last landing point  

a) Is unlikely

b) Is most likely between midnight and develop

c) Is greatest just after dawn.

116. advection fog forms more rapidly when

a) warmer moist air blows over cold land surface

b) warm moist air blows over warm sea surface

c) cold dry air blows over warm land surface

117. flying over desert areas

a) Dust is encountered at greater height than sand

b) Sand is encountered at greater height than dust

c) Dust & sand are found at the same height

118. dust storms in semi desert regions 

a) only occur during day to me

b) Do not affect the visibility when they reach the coast

c) Can occur along troughs of low pressure instead of dense frontal clouds

119. advection fog is produced by

a) loss of beat from the earth’s surface on a clear night and cooling of the air near the surface.

b) Cooling of the lower layers of warm, moist air as the air moves over a colder surface.

c) The evaporation of precipitation from warm air above and cooler air below.

120. the conditions favorable for smoke and haze concentration are

a) A cold front situation when the air is unstable

b) A warm front situation when the air is unsaturated and unstable 

c) An inversion where the air is stable and trapped

121. advection fog may form when

a) Air with high RH. Moves up along with the land slope

b) Air with high RH. Comes down along with the land slope

c) Tropical maritime air mass climbs along with the coastal hillocks

122. which of the following statement is riot true

a) earlier the formation of fog takes place the longer is the duration of fog

b) in fog water droplets are of bigger size thin a low cloud

c) if the relative humidity decreases with height the fog layer is accumulated near the grounds 

123. when thick radiation fog persists the ELR is

a) super adiabatic

b) saturated adiabatic

c) approximately isothermal

124. the radiation fog is more thicker

a) at the time of sunrise

b) half an hour before the sunrise

c) half an hour after the sun rise

125. when flying through a turbulent thunderstorm cloud increasing up to maximum speed 

a) will enable the storm to be penetrated safely in the shortest time

b) will probably cause the aircraft to suffer a high speed stall

c) will greatly increase the risk of structural failure.

126. for adequate frictional turbulence the surface wind speed should be

a) more than 10 Ks

b) less than 10 K

c) variable 3 K

127. contrails may be seen during take off at see level if surface temperature is

a) 0* C

b) -15* C

c) -24* C

128. steaming fog is common in

a) high latitude when a cold air mass flows over a warm sea surface

b) low latitude when a cold air mass flows over a warm sea surface

c) high latitude when a warm air mass flows over cold sea surface

129. steaming fog is also called

a) smog 

b) sea smoke

c) crachin

130. steaming fog mainly occurs over

a) In the vicinity of tropical islands

b) Frozen land and ice flows in polar region

c) Mid latitude land areas

131. which of the following statement is true for desert area

a) if fog formation takes place visibility drops to almost to zero value with in a short period and when it starts to dissipate visibility improves equally faster.

b) If fog formation takes places visibility deteriorates slowly almost to zero value and when fog starts to dissipate it takes longer time for improvement also

c) If fog formation starts before midnight then visibility will improve only at noon

132. advection for is

a) Not confined to any particular pressure distribution 

b) Confined to anticyclones system only 

c) Confined to Col area only

133. the main difference between radiation fog and advection fog is

a) The mode of cooling

b) Radiation fog forms in the early morning whereas advection fog can form at any time of the day

c) Radiation fog occurs only in tropical regions whereas advection fog occurs in Arctic region

134. generally the air needs to cool at least to ………. Before fog formation

a) the dew point

b) the frost point

c) 0* C

135. which of the following statement is not true for radiation fog 

a) It is exclusively a land fog

b) The cooling of air is spread upward merely by turbulent mixing

c) Inversion layer occurs much above the condensation level

136. which cause the improvement in visibility

a) Isothermal lapse rate

b) Steep lapse rate

c) Normal lapse rate.

137. if clew point depression is zero, then Relative Humidity is

a) 0%

b) 10%

c) 100%

138. A front is considered to be a cold front when

a) It is moving fairly rapidly 

b) Cold air is displacing warm air

c) The actual frontal line is relatively narrow, 30 to 50 n.m.

d) All of the above

139. A front is considered to be a warm front when

a) The cold air is displacing the warm air and cumulus clouds are developing 

b) The warm air is displacing cold air

c) The air is remaining stationery and both stratus and cumulus clouds are developing 

d) All of the above

140. in the case of a well developed warm front clouds be expect

a) as much as 1000 to 1500 miles ahead of the front 

b) as much as 1000 to 1500 miles behind of the front

c) to be of cumulus and cumulonimbus types

141. The clouds usually associated with a fast moving cold front are:

a) Stratus, cirrostratus, altostratus

b) Nimbostratus, cirrostratus & cirrus

c) Cumulus and cumulonimbus

142. The speed of the front is estimated from

a) The Geostrophic wind component at right angles to the front.

b) The Geostrophic wind component parallel to the front.

c) Thermal wind component at 500 Hpa

143. Cyclone are generally confined almost entirely to the:

a) Equatorial sea

b) Tropical sea

c) Arctic sea

144. The type of weather that should lie expected in a well developed cyclonic storm

a) Moderate weather with few Cu. And Ac.

b) Adverse weather with Sc. TCu & CB

c) Light weather St. As & Cs

145. Thunderstorms are not most prevalent with:

a) Warm fronts

b) Cold fronts

c) Polar fronts

146. All thunderstorms are potentially dangerous but usually the most severe types are those associated with 

a) Warm fronts

b) Cold fronts

c) Stationery fronts

147. The type of weather that should be expected in a well developed thunder storm consisting of several cells is

a) Light rain and smooth flying conditions

b) Light rain, snow and stable air

c) Hail, icing and severe turbulence

d) Hail, rain ice and stable air

148. The extremes of up drafts and down drafts is a thunderstorm may reach:

a) 100 feet per second or more for up drafts and 40 feet per second or more for down drafts

b) 40 feet per second for up drafts and 100 feet per second for down drafts.

c) Velocity seldom in excess of 10 miles per hour for up drafts and 5 miles per hour for down drafts.

149. The stages of a thunderstorm are the cumulus mature and dissipating stages. It takes approximately:

a) One hour for each stage to develop 

b) 2 to 3 hours

c) One hour for the cumulus stage, two hours for the mature stage and half hour for the dissipating stage

150. The principle cause of turbulence are:

a) Cumulus and stratus clouds

b) Vertical currents, widely separated isogonics lines and horizontal currents

c) Vertical currents, frictional effect, and wind shear

151. When the pilot flies his airplane through an area of severe turbulence he should 

a) Reduce airspeed as recommended in the Owner’s Manual for the airplane

b) Increase airspeed to increase the frequency with which the bumps. Due to turbulence. Are encountered 

c) Increase airspeed and descend to a lower altitude to reach an altitude nearer the ground where

152. Severe wind shear way be encountered:

a) Cold front is approaching 

b) Warm front is approaching

c) Anti cyclone is approaching

153. Clear air turbulence (CAT) is often encountered:

a) In the vicinity of jet stream and mountain waves

b) In the vicinity of tropical revolving. Storm

c) Occluded front

154. When thinking of an air mass, it can he defined as

a) A large mass of cold or warm air

b) A thick extensive body of air whose temperature and humidity characteristics are essentially the same in horizontal direction at different levels

c) Air mass is a thick and extensive body of air whose temperature & humidity characteristics are same at all levels

d) Air mass  is a thick and expensive body of air whose characteristics are essentially the same & is always found over land

155. In considering air mass source region the significant surface features which must be-considered are:

a) The surface must be rocky and uneven to get differential heating

b) Air masses normally form over large water areas because they are always moist.

c) Air masses form over land or water surfaces that have relatively uniform characteristics.

d) Air masses normally form over mountainous terrain because it is necessary to have the temperature and moisture variations that are found in this area

156. Clouds are generally classified into four categories; high clouds middle clouds low clouds and clouds with vertical development, we would expect to find Middle clouds

a) From 20,000 to 40,000 feet comprised of fine water droplets.

b) From 6000 to 20,000 feet and compose, mainly of water droplets, sone forms may have ice crystals 

c) From 8,000 to 18,900 feet and composed mainly of fine water droplets and ice crystals

157. Clouds are classified according to appearance into two general types

a) Cirrostratus and nimbostratus.

b) Altostratus and cumulonimbus.

c) Cumuliform and stratiform

158. Some of the characteristics of cumuliform clouds are

a) Large water droplets instability, turbulence, showery precipitation, good surface visibility outside of showers and icing predominately of clear type

b) Large water droplets, stable air, smooth flying, poor surface visibility, continuous rain & clear ice

c) Small water droplets, instability, turbulence, showery precipitation, rime ice & poor surface visibility

159. Weather consists of several elements- The factors that produce weather are

a) Nitrogen, Oxygen and carbon dioxide

b) Clouds, fog rain and hail

c) Pressure. Winds. Moisture and temperature.

160. When an inversion is present, which of the following is correct

a) The temperature decreases rapidly, as you rise above tile surface of the earth

b) Conditions are favorable for formation of fog & smog and temperature increases with altitude.

c) The temperature increases. As height increases

161. When looking at weather map if you wished to determine if the winds are relatively strong you could do so by

a) Looking to see where the isobars are Close together

b) Looking to see where the isogonics lines are close together

c) Looking to see where the isotherms are close together

162. In distribution of temperature, adjective and convective movements of air is common. Which of the following apply

a) Advection is upward and downward movement of air and convection is upward downward movement of air

b) Advection is upward and downward movement of air and convection is horizontal movement of air

c) Conduction is horizontal movement of air and advection is upward and downward movement of air

163. In the Northern hemisphere the circulation about a high pressure system is

a) Clockwise and inward towards the center

b) Counter clockwise

c) Clockwise and outward from the center

164. In mountainous areas one would expect valley winds to flow in the following directions 

a) In the day up slope and at night down slope

b) Up slope both day and night

c) In the day down slope and at night up slope

165. When a pilot files from warm air to cold air without changing the altimeter setting indicated altitude on the altimeter will be

a) More than true altitude

b) Less than true altitude

c) Equal to true altitude 

166. When a pilot files from a high pressure to low pressure area maintaining the same altitude on the altimeter & without changing the setting the true altitude will

a) Increase

b) Decrease

c) Remain the same

167. In an anticyclone that is intensifying there is 

a) Divergence at low levels, convergence at upper levels

b) Divergence at all levels

c) Convergence at lower levels & divergence at upper levels

168. From the center of anticyclone outwards, the surface winds

a) Gradually decrease in speed

b) Gradually increase in speed

c) Show no significant change in wind speed

169. Around an anticyclone winds at low levels circulate

a) Anticlockwise in the northern hemisphere

b) Anticlockwise in the southern hemisphere

c) Clockwise in the southern hemisphere

170. The typical anticyclones weather are

a) Gales & low cloud in winter

b) Thunderstorms in late afternoons & evening, radiation fog in autumn

c) Radiation fog in autumn

171. Around a col the isobar pattern is such that

a) One isobar joins all places with the same mean sea level pressure

b) The isobars on the high pressure side have no interval of greater value than isobars on the low pressure side

c) The isobars enclose approximately a square area having two highs & two lows diagonally 

172. If the air mass originated as the subsidizing air of the sub tropical anti cyclone, it will be 

a) Warm and moist

b) Cool and moist

c) Much drier

173. Which of the following statement is not true for cold front?

a) Cooler air mass under cuts a warm air and displaces it at the surface

b) Pressure falls as a cold front approaches

c) Associated clouds are mainly St& Sc.

174. Which of the following statement is not true for warm front?

a) Warmer air replaces the cooler air at the surface

b) Pressure falls continuously as the warm front approaches 

c) The dew point will increase

175. Descending air is subjected to

a) Adiabatic cooling 

b) Adiabatic beating

c) Radiative heating

176. Orographic clouds are

a) St with a flat base

b) Se with an uneven base 

c) TCu with uneven base

177. Anti cyclonic conditions over land area are most favorable for 

a) Fair weather cumulus particularly in summer

b) Turbulence clouds 

c) Cb clouds

178. Which of the following statement is incorrect for fair weather Cu clouds 

a) The vertical development is being inadequate for precipitation 

b) Cloud formation starts at the time of sunrise

c) These clouds have a direct and clear- cut base at air bright of abort 1500ft.

179. Permanent warm anti cyclones are found

a) Over the ocean at latitude around 25 to 40

b) Over the land at latitude around 25 to 40

c) Near the equator

180. Which is not the favorable condition for the development of Nonwestern

a) Day temperature is less than 20* C and RH is less thin 30%

b) Day temperature 35* C or more over Chota Nagpur area and RH is more than 70% over Sunder van delta

c) A low-pressure area is active over Head Bay.

181. norwesters form

a) Over NW India in summer months

b) Over NE India in summer months

c) Over NE India in winter months

182. sandstorm may occur over

a) Punjab and Haryana during the month of july if break monsoon conditions prevails for longer period.

b) Rajasthan and gujrat in the month of December due to cold wave prevailing over UP.

c) AP and MP with the onset of SW monsoon

183. cold wave conditions prevail over

a) North India during the months of Dec & Jan temperature falls below by 6* C of the normal 

b) North India during the months of Oct & Nov temperature falls below by 6* C of the normal 

c) North India during the months of March & April temperature falls below by 6* C of the normal 

184. When cyclone crossed vizag, weather conditions are least affected over

a) DELHI

b) HYDERABAD

c) NAGPUR

185. Which of the following statement is incorrect for SW Monsoon Season?

a) Wind are Easterly having a speed of about 20 to 30 k at FL 330 over Deccan Plateau

b) Winds are easterly having a speed of about 10 to 15 K at FL 250 over Central India.

c) Winds are westerly having a speed of 40 to 60 K over north India. 

186. Which statement of the following is incorrect for winter season

a) Winds are westerly having a speed of 60 k or more, over Chennai at fl 330

b) Winds are easterly having a speed of 60k or above over Chennai at fl 350

c) Winds are westerly having a speed of 15 to 20 k over Chennai at fl 310

187. the great himalayas

a) Inhibits the SW monsoon to go further northwards

b) Inhibits the cold air mass of Tibet to move further southwards 

c) Provides tremendous amount of moisture for weather activities 

d) A, b and c are correct

e) A & bare correct

188. SW monsoon rainfall is maximum along the Western Ghats, because

a) It is a coastal area

b) Monsoon current strikes here first

c) Western hats are hills having sufficient altitude and almost normal in, the pith of SW monsoon current which cause the monsoon burst here

189. North Eastern states of India are weather prone areas throughout the year because

a) Orographic

b) Continuous supply of moisture from Himalayan region

c) Closer to the Bay of Bengal

d) A & b are correct

e) A, b & c are correct

190. Sandstorms – are active in summer season over North west India because

a) It is far away from sea

b) Strong thermal isolation

c) Closer to Himalayas

d) A & b are correct

e) A, b & c are correct

191. norwesters are active over west Bengal and adjoining areas because 

a) closer to the Bay of Bengal

b) closer to the Himalayas

c) strong thermal insulation over chhota nagpur are

d) a, b & c are correct

e) only b is correct

192. Cyclone does not affect Delhi weather because 

a) Westerly jet stream are active over Punjab

b) Far away from tire sea

c) Closer to the Himalayas

d) A, B & C are correct

e) B & C are correct

193. sandstorm cannot be seen over Hyderabad because 

a) its attitude is 1741 it

b) it is closer to sea

c) it is situated to the SE of thar desert at a distance above 1200nm

d) only a * b are correct

194. norwesters cannot be seen over Chennai because

a) it is a coastal station

b) it is far away from Himalayas 

c) inadequate thermal instability

d) a & b is correct

195. which cannot be interpreted from the surface weather chart

a) existence of heat wave or cold wave

b) movement of a depression

c) jet stream

196. which of the following statement is incorrect for the surface weather chart

a) wind direction is referred from true north in clockwise direction in NH 

b) wind speed is indicated by the barbs (feathers) and the opening of the barbs in the clockwise direction in N.h. and in anti-clockwise direction in the S.h. 

c) wind speed of hill station is indicated by the barbs and the opening, of the barbs in the clockwise direction s.h. and anti-clockwise in N.H.

197. which of the following statement is incorrect for the surface weather chart

a) cold front is indicated by a band of solid triangles in blue or green colour & warm front is indicated by a band of semi circles in red colour

b) cold front is indicated by a band of solid triangles in red colour and a warm front is indicated by a band of semicircles in blue or green colour

c) the persistence of fog, is indicted be yellow colour shading dust storm by brown shading

198. the dew pint depression is the difference between

a) OAT & dew point temperature 

b) Dew point temperature, and wet bulb temperature

c) OAT & the wet bulb temperature

199. which of the following are not the actual weather observations?

a) TAF & WINTEM

b) SPECI & TEMP

c) AIREP & RAREP

200. TAF is the forecast of weather conditions around the ARP having a radius of 

a) 5 n.m

b) 10 n.m.

c) 50 n.m.

201. which of the following statement is incorrect 

a) in India. Civil met office issue TAFORs having a validity of 9 hours & 24 hours only

b) in Pakistan and Nepal civil met office issue TAFORS having validity period of 18 lies

c) in gulf countries civil met office issue TAGORS having  validity period of 36 hours

202. which  are not the contents of a TAFOR 

a) QNH. OAT/DP, Turbulence

b) Wind Visibility and weather

c) Distribution of clouds, height of the base of TCU/Cb if any.

203. which  are not the following conditions, SPECI is issued

a) visibility improves from 2500 meters to 4000 meters

b) RVR reduces from 1200 meters kto 900 meters

c) Visibility improves from 4000 meters to 5000 meters

204. in which of the following conditions, SPECI is issued

a) when the mean surface wind direction has changed by 60* or more from the that given in the latest report, the mean speed before or after the change is 10 kts or more

b) when the surface wind speed has changed by 10 kts or more from that given in last report 

c) when cloud amount changes from broken to scattered

205. which of the following statements is incorrect

a) if visibility is deterioration SPECI is issued immediately, but if the visibility is improving SPECI is not issued immediately

b) if the visibility is improving & has reached the required minima the SPECI is issued immediately

c) SPECI can be combined with a scheduled metar

206. which of the following is not I he contents of te met folder (ROFOR) for a flight

a) upper air data for constant levels of 300 hpa. 250 and hpa prognostic significant weather chat up to fl 460

b) TAFORS of departure. Destination and alternate airfields

c) METARS of departure, destination and alternate airfields

207. which of the following is not the contents of the prognostic significant weather 

a) freezing level, axis of jet stream, CAT and mountain waves area.

b) Condensation levels, low and high surface area

c) 0*c isotherm, weather boundary and height of the Tropopause

208. which of the following is not the condition of CAVOK

a) visibility is 10 K or more

b) No clouds below 5000 feet or below the minimum sector altitude

c) Wind shear is reported

209. which statement is not correct

a) when the visibility at 2 meters above the ground is 1000 meters & in the fog layer is less than 1000 meters it is reported as MIFG

b) if the fog is observed within 5 nm of the aerodrome perimeter but not at the aerodrome it is reported as VCFG

c) if the fog is observed in patches within 5 nm of the aerodrome perimeter but not at the aerodrome it is reported as BCFG

210. A gust is said to be squall if

a) A sudden increase in wind speed is observed at least 16 K the speed rising to 20 K or more and lasting for at least one minute.

b) A sudden increase in wind speed is observed at least 10 K the speed rising to 15 K with a change of wind direction 30* or more.

c) A sudden increase in wind speed is observed at least 10 K (lie speed rising to 15 K and lasting for at least one minute.

211. Which of the following statement is incorrect?

a) if visibility is between 500 meters to 5000 meters it is rounded down to nearest 100 meters and then reported.

b) If visibility is between 5000 meters to 9999 meters it is rounded down to the nearest 1000 meters and then repaired.

c) If visibility is 20000 meters it is reported as 20 Km.

212. Which of the following statement is incorrect for SIGMET

a) It is a routine massage issued eight time a day by all MWOs

b) It includes the occurrence or the expected occurrence of one or more weather which may affect the expeditious & safe operation of aircraft

c) If includes the weather phenomenon occurring & for expected to occur only within the FIR boundary

213. VOLMET is a routine broadcast o(

a) METAR and TAFS of selected airfields 

b) ROFOR and ARFOR

c) Wind shear and volcanic corruption warnings

214. It rainfall has occurred more than 4 mm in one hour then it is called

a) Slight rain 

b) Moderate rain

c) Heavy rain 

215. An operator should notify the met office for flight documents & met services at least ….. hours before ETD

a) 1 hour

b) 3 hours

c) 6 hours

216. South west monsoon is said to be vigorous if

a) Minimum rain fall of 8 cm along the Western Ghats & 3 cm elsewhere in the last 24 Hours 

b) Maximum rain fall of 10 cm along the Western Ghats & 3 cm elsewhere in the last 24 Hours 

c) Floods have occurred over Bihar & Orissa
Part III
1. height of freezing level during monsoon season over Delhi is near:

a) 850 mb

b) 700 mb

c) 500 mb

2. In break monsoon conditions the axis of the monsoon through at mean sea level is

a) In its normal position 

b) To the south of its normal position

c) To the North of its normal position

3. If the surface air temperature is 30 deg C the temperature at 2 Km. (assuming dry adiabatic lapse rate prevailing up to 2 kilometers from the surface) is about

a) 18 deg c

b) 10 deg c

c) 42 deg c

4. Warm and most air moving over a cold ground gives rise to:

a) Thunder clouds

b) Fog and stratus

c) Frontal clouds

5. An isothermal atmosphere is 

a) Stable 

b) Unstable

c) Neutral

6. Fronts are associated with 

a) Tropical cyclone

b) Monsoon depression

c) Extra tropical low

7. The thermal wind is:

a) The wind that blows because of thermals

b) The wind, which must be added vector ally to the geostrophic wind at the lower level in order to obtain the geostrophic wind at the upper level.

c) The warm wind that blows down the hill on the leeward side.

8. A cold front is defined as:

a) A ridge of high pressure

b) Loading edge of advancing warm air

c) Loading edge of advancing cold air

9. Normal winds at 200 mb at Delhi in January are:

a) Westerly 

b) Easterly

c) Southerly 

10. Sigmet is issued for:

a) Fog

b) Heavy Rain

c) Active Thunderstorm 

11. A Jet Stream wind is:

a) 40 Kt or more

b) 60 Kt or more

c) Not more than 100 knot.

12. Easterly jet over India is seen in:

a) Northeast monsoon season

b) Pro-monsoon season

c) Southwest monsoon season

13. Radio-Sonde is used to measure:

a) Amount of cloud and its speed

b) Wind at various pressure levels

c) The temperature and humidity at various pressure levels 

14. Tropopause is lowest over:

a) Polar Areas 

b) Mid latitudes 

c) Tropics

15. The rate of fail of pressure with height in warm air mass

a) The same as in cold air mass

b) More than in a cold air mass

c) Less than in a cold air mass

16. Warm air advection gives rise to:

a) Veering of wind with height

b) Backing of wind with height

c) No change in wind direction with height

17. Severe tropical cyclones in Bay of Bengal are most frequent in

a) S/W Monsoon Season

b) Pre-Monsoon Season

c) Post-Monsoon Season

18. Wind speed in a tropical cyclone:

a) Is between 27 and 35 Knots

b) Is not more than 50 Knots

c) Exceeds 33 Knots

19. In a cyclone in Northern Hemisphere, around the low pressure center:

a) Wind blows in an anti clockwise direction

b) Wind blows in a clockwise direction

c) Winds are calm

20. If an altimeter reads aerodrome elevation at ground level, then the sub-scale must have been set to:

a) QNH

b) QNE

c) QFE

21. Density of moist air is:

a) Higher than dry air

b) Lower than dry air

c) Equal to dry air

22. Lines of constant wind speed drawn on weather charts are called:

a) Isobars

b) Isotachs

c) Isogons

23. In Geostrophic wind the following factors are important 

a) Pressure gradient force and coriolis force

b) Pressure gradient force and centrifugal force

c) Centrifugal force and coriolis force

24. A TREND type landing forecast is valid for

a) Nine hours

b) Two hours

c) Four hours

25. What is:

a) AIREP

b) METAR

c) RVR

d) CAVOK

e) TAF

26. Mat the following by choosing one from A and one from B

A


B

Matching of A

a) Thunderstorm


Eye

b) Depressions


Fine weather 

c) Tropical cyclone

Extra Tropics

d) Frost 



Bad Weather

e) Satellite


Winter 

f) Stable Atmosphere

Squall 

g) Fronts



Cloud Imagery

h) Anticyclones


Pre-Monsoon

i) Heat Waves


Strong Winds

j) Sub-tropical westerly jet
Inversions

27. What for the following symbols stand:

28. The average height of the Tropopause varies from approx.

a) 8 Km at the poles to 16 Km at the equator

b) 12 Km at the equator to 9 Km at the poles

c) 16 Km at the poles to 9 Km at the equator

29. The rate of fall of pressure with height in a warm air mass

a) Will be less than in a cold air mass

b) Will be more than in a cold air mass

c) The same as in a cold air mass

30. In the Northern Hemisphere, Geostrophic wind blows

a) Parallel to the isobars with high pressure to the left

b) Across the isobars from high pressure to low pressure

c) Parallel to the isobars with low pressure to the left

31. Under the same condition of pressure and temperature moist air is 

a) Lighter than dry air

b) Heavier than dry air

c) Has the same density as dry air

32. If the wind above a certain station is reported to be from the North at an altitude

of about 3600 ft you would expect the surface wind to be from

a) North East

b) North

c) North West

33. The solar radiation received by the earth is called

a) Insolation

b) Convection 

c) Inversion

34. Earth radiates heat energy in the

a) Long Waves

b) Short Waves

c) Very Short Waves

35. Instrument for recording pressure is called

a) Anemograph 

b) Barograph 

c) Hygrograph 

36. The dry adiabatic lapse rate of the atmosphere is about

a) 10* C/Km

b) 15* C/Km

c) 5* C/Km

37. Any lapse rate less than saturated adiabatic lapse rate is described as

a) Absolutely 

b) 15* C/Km

c) 5* C/Km

38. At a height of 16 Km the temperature over the equator is 

a) Higher than over the poles

b) Nearly the same over the poles

c) Less then over the poles

39. On the lee side of mountains you would normally expect to find 

a) Down Drafts

b) Updrafts

c) Eddies and down-drafts

40. If you are flying from Bombay to Calcutta holding a constant indicated altitude and experience a drift to the Starboard side, your actual altitude will be

a) Lower than your indicated altitude

b) The same as the indicated altitude

c) Higher than the indicted altitude

41. Ice generally forms on aircraft when

a) The aircraft is flying through cirrus clouds.

b) Ice crystals are present in the area of flight.

c) Water droplets are present with subfreezing temperature.

42. High clouds that take the form of hooks ending in small tufts are termed;

a) Cirrocumulus 

b) Cirrus

c) Altocumulus

43. Lines of constant wind speed on weather charts are called 

a) Isotachs 

b) Isohyets

c) Isobars

44. Radio Bonds is used to determines

a) The base of low cloud over a station

b) The winds at various levels

c) Temperature and humidity at various pressure levels.

45. When a warm front passes, the surface wind

a) backs and increases

b) veers and decreases

c) veers and increases

46. The Density of air

a) Varies directly as pressure and temperature

b) Varies directly as pressure and inversely as temperature 

c) Varies inversely as pressure and directly as temperature

47. In the Troposphere density

a) Increases with height

b) Decreases with height

c) Remains nearly constant

48. Norwesters are

a) Depressions in the bay of Bengal which move towards

b) Violent thunderstorms

c) Western disturbances, which affect NW India.

49. The major constituent of air by weight is

a) Oxygen

b) Nitrogen

c) Carbon dioxide

50. Thunderstorm activity is predominant in

a) NE India 

b) Central India

c) South Peninsular India 

51. The altimeter of an aircraft parked at an airfield, indicated a height of 450 ft when

 the subscale of the instrument was set to 1013 Mbs. If the QNH at the airfield

was 1000 Mbs and a change of pressure of 1 Mb represents a height change of 27

ft, what is the elevation of the airfield.

a) 99 ft.

b) 549 ft.

c) 530 ft.

52. The average height of the troposphere is

a) Greatest near equator and minimum near poles.

b) Greatest near middle latitudes and minimum near equator and poles.

c) Greatest near poles and minimum near equator.

53. An adiabatic process is one in which heat content of the system 

a) Increases

b) Decreases

c) Does not change

54. Surface wind velocity reaches a maximum on most days at a give station 

a) In the afternoon

b) In the early morning hours

c) Any time of the day

55. The temperature to which moist air must be cooled at its existing pressure and

humidity mixing ratio in order that it shall be saturated, is called

a) Wet bulb temperature

b) Dew point temperature

c) Virtual temperature 

56. In the International Standard Atmosphere

a) Means sea level pressure is 1000 mb and temperature is 15* C.

b) Means sea level pressure is 1013.25 mb and temperature is 15* C.

c) Rate of fall of temp with height is 6.5* C/Km upto 21 Km.

57. An area on a weather map where isobars are relatively more closely packed, the

 surface winds are likely to be

a) Light and parallel to isobars

b) Strong and parallel to isobars

c) Strong and blowing across the isobars

58. The winds which spiral inward in a counterclockwise direction in the northern hemisphere are associated with

a) Low pressure area

b) High pressure area

c) Turbulence

59. Strong wind sheer conditions in the lower levels of the atmosphere are normally associated with

a) Thunderstorm

b) Amount of moisture present

c) Fine weather

60. Hail is most likely to fall from a cloud

a) Having layers

b) Composed of ice crystals

c) Having strong vertical development

61. The atmosphere may be nearly taken to be dry if the difference between the dry bulb temp and dew point temperature is

a) 20 deg C

b) 5 deg C

c) 0 deg C

62. Dry air having a temperature of 35 deg C on surface when forced to rise adiabatically by 1 Km would attain a temperature of

a) 29 deg C

b) 25 deg C

c) 45 deg C

d) 41 deg C

63. Advection fog forms on nights characterized by

a) Light and most winds; sky clear 

b) Strong wind; sky cloudy

c) Slow passage of relatively warm, moist and stable air over a cool surface.

64. If an observer stands with his back to the wind in the Northern Hemisphere, the low pressure area will be

a) Ahead of him

b) To his left

c) To his right

65. A high intensity, short duration, showery precipitation is associated with

a) A stratus with

b) An altostratus cloud

c) A cumulonimbus cloud

66. A squall is a phenomenon characterizing

a) Heavy rainfall and downdraft in a thunderstorm 

b) The sudden and frequent lightening discharge observed in a thunderstorm

c) The sudden rise of surface wind satisfying the specified criterion of wind speed and duration associated with a thunderstorm 

67. The conditions necessary for formation of a thunderstorm are

a) Steep lapse rate, strong winds

b) Steep lapse rate, adequate supply of moisture

c) Shallow lapse rate, adequate supply of moisture

68. A “mature” thunderstorm has

a) Strong updraft only

b) Strong downdraft only

c) Strong updrafts and downdrafts

69. A dry air parcel from the surface level with a temperature of 35 deg C is lifted adiabatically to a height of 1 Km. Its temperature at this level will be

a) 30 deg C

b) Same as the surface temperature, since in an adiabatic process no heat is allows to enter or leave the system

c) 25 deg C

70. Aircraft icing is most favored in cloud regions which have temperature 

a) Ranging between 15 deg C to 40 Deg C

b) Ranging between 0 deg C to -15 Deg C

c) Below -40 deg C

71. Hails is the

a) Solid precipitation, which commonly occurs over the mountains regions during winter

b) Frozen or partly frozen rain falling from sheet type of clouds.

c) Solid precipitation falling from a deep convective cloud.

72. Mountain waves are:

a) The waves generated on the windward side of the mountain when there is strong wind flowing parallel to the ridge.

b) The waves generated on the leeward side of the mountain when there is strong wind flow parallel to the ridge.

c) The waves generated on the leeward side of the mountain when there is a strong wind flow perpendicular to the ridge.

73. The Southwest monsoon period in the Indian climatologically

a) May to September

b) June to October

c) June to September

74. Norwesters are:

a) The western disturbances which effect Northwest India

b) Severe thunderstorms which occur over Northeast India during hot weather period

c) Severe thunderstorms which occur over Peninsula during hot weather period

75. Fronts are characteristic of:

a) Tropical cyclones

b) Extra tropical depressions

c) Monsoon Depression 

76. In a mature tropical cyclone the center and the area 10-20 Km around it is characterized by

a) Moderate winds and heavy rain

b) Hurricane force winds, fierce squalls and very heavy rain

c) Calm wind, little clouding and practically no rainfall

77. The tropical cyclones are most frequent over the Indian season the:

a) Winter months

b) Post monsoon months

c) Monsoon months

78. Dust storms usually occur over Northwest India during

a) The post-monsoon period

b) The winter period

c) The pre-monsoon period

79. Delhi reports rainfall on a day in the month of January. You would infer that the rainfall is associated with

a) A low pressure area moving from East to west in the neighbor’s hood of Delhi.

b) A western disturbance moving from West to East in the neighbor hood of Delhi.

c) The rainfall report might be wrong as Delhi gets rainfall only in the monsoon season.

80. In the month of July Calcutta reports surface visibility as 500 meters in the morning svnop. You would infer the low visibility due to:

a) Fog

b) Heavy rain

c) Low cloud

81. AIREP is the code name given to

a) Aircraft Meteorological Reports Originated by Aircraft in Flight.

b) Current Weather Reports Transmitted by ATE to Aircraft in flight.

c) Meteorological Reports Broadcast for Aircraft Operation.

82. The upper air temperature and dew point observations are taken by

a) Pibal Station 

b) Radiosonde Station

c) Rawin station 

83. Flying at a height of 30,000’ from Calcutta to Delhi in the month of January you are most likely to encounter

a) Very strong head winds

b) Very strong tail winds

c) Moderate southerly winds

84. A constant pressure chart is one on which

a) Lines of constant pressure, called isobars, are drawn

b) Lines of constant height of the isobaric surface are drawn

c) Routs along which an aircraft should fly at constant pressure is shown

85. SIGMET is originated by

a) Meteorological Watch Office (MWO)

b) Air Traffic Control (ATC)

c) Flight Information Center (FIC)

86. The thermal wind is

a) The wind that blows because of thermals

b) The warm wind that blows down the hills on the leeward side 

c) The wind which must be added vector ally to the Geostrophic wind at the lower level in order to obtain the Geostrophic wind at the upper level

87. The stratosphere is

a) A layer of the atmosphere where of the weather activity occurs 

b) The highest layer of the atmosphere

c) An upper atmospheric layer characterized by temperature inversion and stability 

d) None of the above

88. Given below are meteorological phenomenon, terms and symbols placed in two groups pick out the most appropriate matching phenomenon, term of symbol from group B corresponding to each one in group A and write in the blank space provided.

a) Jet streams

b) Visibility < 200 M

c) Stratus 

d) Gale

e) Rotor

f) Fog

g) Aerodrome current weather report

h) Pressure reduced to MSL in ISA

i) Aerodrome forecast

89. Assuming the water vapor content of the atmosphere to be constant throughout on a sunny day, the relative humidity will very as following

a) It is maximum in the morning hours, minimum in the afternoon and then again rises.

b) It is maximum in the morning, maximum in the afternoon and then again falls.

c) Since there is no change in the water vapor content of the atmosphere, the relative humidity will also not have any variation during the day

90. An air parcel is at a temperature of 30 deg C and a pressure of 1000 Hpa, It is cooled till it gets saturated without changing the water vapor content of the parcel and its pressure. The temperature at this stage is observed to be 20* C. this temperature of 20 deg C is

a) The potential temperature of the parcel

b) The due point temperature 

c) The wet bulb temperature

91. The air temperature at the surface level is 32 deg C and that at 1.5 Km height above the surface is 33* C as recorded in a particular sounding of the atmosphere. Identify the correct situation (s) from the following:

a) The atmosphere layer surface to l.5 Km level is unstable.

b) The layer is stable

c) The layer is conditionally unstable

d) The layer is an isothermal layer

92. A barometer indicates a pressure of about 1000 Hpa at a station situated very close mean sea level. The barometer is taken to a height of 3 Km immediately above. It will indicate pressure of around

a) 500 Mb

b) 300 Mb

c) 700 Mb

93. Gradient wind is the wind;

a) Which flows parallel to the curved isobars.

b) Which flows parallel to the straight isobars.

c) Which flows across the isobars from high pressure to low pressure against the pressure gradient.

94. Altostratus is;

a) A low cloud of sheet type

b) A medium cloud of sheet type 

c) A cloud of large vertical growth

d) A high cloud of sheet type

95. A high- pressure area is usually associated with

a) Fine weather

b) Thunderstorms

c) Strong winds

96. The conditions necessary for the formation of a thunderstorm are

a) Steep lapse rate, strong winds

b) Steep lapse rate, adequate supply of moisture

c) Shallow lapse rate, adequate supply of moisture

97. Cold front is normally associated with

a) Cb clouds with frequent precipitation in the form of showers

b) Ci, Cs As & St type of clouds & steady precipitation

c) Fine weather

98. Flying at 25,000 feet from Bombay to Delhi on a normal day in July, you would expect

a) Easterly winds

b) Westerly winds

c) Northerly winds

d) Southerly winds

99. During winter season, fog will be more frequent in 

a) Assam

b) Rajasthan 

c) Bihar

100. A Radio Sonde is used to determine 

a) The direction and speed of winds at various upper level

b) The temperature and humidity at various levels

c) The heights of the clouds over the station

101. If the altimeter reads aerodrome elevation at ground level then the subscale must have been set to

a) QFE

b) QNE

c) QNH

102. SIGMET is issued for

a) Severs line squall

b) Gusty winds

c) Heavy rains

103. SPECT  is a weather report issued

a) Whenever specially requested for 

b) Only when thunderstorm is expected

c) As soon as the specified criteria of a meteorological condition is satisfied

104. Fill in the blanks choosing the correct words

a) Air can hold more moisture if it is…………………(cooled/heated)

b) Evaporation takes place……………. (at all times/during day only)

c) Heat is released in the process of……………(evaporation/condensation)

d) Local wind which is set up when the air cooled by contact with ground & starts flowing down hill is called……………..(Anabatic Wind/ Katabatic Wind)

e) Slow down ward motion of air over large area is called………….(Subsidence/Convection)

f) The most variable gas in the atmosphere is……………… (Water Vapour/ Carbon Dioxide)

105. Given one term for each of the following;-

a) An instrument used for measuring rainfall

b) An instrument used for measuring pressure

c) An instrument used for getting correct runway visibility 

d) The air containing moisture up to full capacity………… 

e) Form of cloud that causes thunderstorm…………………….

106. Match the following by choosing one from A and one from B:-


A




B

Matching of A

a) Norwesters


Tamilnadu

b) Clear Air turbulence 

Convergence 

c)  Western disturbances 
Jet Stream

d) NE Monsoon


North Eastern

Parts of India

e) Upward Motion 

NW India

107. What is

a) ROFOR
:

b) TAFOR
:

c) METAR
:

d) VOLMET
:

e) AIREP

:

108. CAVOK can be used in current weather massages when the following conditions are satisfied:

a) Visibility……………………………………………………….

b) No Cloud below………………..m an no…………………….

c) No ……………………………………………………………

109. Match the following in ‘A’ against appropriate entries in ‘B’


A




B

Matching of A

a) Thunderstorm


Isohypses 

b) Fog



Vis less than 1500 m

c) Tropical storms

Super cooled water drops 

d) Isotherms


Heavy Hail

e) SIGMET


First gust

f) AIREP



CNS

g) Airframe icing 

Vis less then 1000 m

h) Pressure altitude 

anticyclone 

i) RVR



Vertical ascent 

j) Subsidence 


Temperature

k) Convergence 


Spiral cloud bands

l) Constant pressure charts
ONE


110. State what the following symbols/marking stand for:

111. In India volmet broadcasts are made by

a) All class met offices

b) Met watch offices

c) Only Bombay & Calcutta met offices.

112. The atmospheric pressure at a pt may be defined as

a) The force exerted on a unit area due to the weight of the atmosphere above it.

b) Is the force of the atmosphere above the pt.

c) Weight of the atmosphere. On a pt.

113. The force on a unit area on the surface of the earth exerted by the weight of atmosphere, above is called:-

a) Atmosphere, Pressure

b) Isobars

c) Isogonals

114. Mark the correct statement

a) Atmosphere Pressure decreases with ht.

b) Atmosphere Pressure increases with ht.

c) Atmosphere Pressure remains constant irrespective of ht.

115. Westerly disturbances affect the

a) The southern part of India from November to February

b) Northern part of India from December to March

c) Western part of India from July to September

116. The pressure decreases rapidly with the height in:-

a) Cold Air

b) Warm Air

117. The lowest temp. in Tropopause exists over:-

a) Pole

b) 45 deg lat

c) Equator

118. Cyclonic storms cross Tamilnadu coast in

a) October to December

b) May to July

c) February to May

119. In a standard atmosphere MSL temp is:-

a) 10 deg C

b) 15 deg F

c) 50 deg C

d) 59 deg F

120. In a standard atmosphere the lapse rate is:-

a) 5.6 deg C/Km

b) 6.5 deg C/Km

c) 1.97 deg C/1000

d) 2.98 deg C/1000

121. The rate at which an ascending parcel of dry air-cools is called 

a) SALR

b) DALR

122. D.A.L.R. Means

a) The rate at which an ascending parcel of air cools

b) The rate at which temp. falls with height.

c) The rate at which ascending parcel of saturated air cools.

123. The rate at which as ascending parcel of saturated air coos is called 

a) SALR

b) DALR

124. S.A.L.R. Means

a) The rate which an ascending parcel of dry air cools

b) The rate at which temp falls with ht.

c) The rate at which ascending parcel of saturated. Air cools.

125. The D.A.L.R. IS :-

a) 5.4 DEG F/1000

b) 2.0 DEG F/1000

c) 2.7 DEG C/1000

d) 1.5 DEG C/1000

126. The dry air is said to be stable if 

a) ELR > DALR

b) ELR = DALR

c) ELR <DALR

d) DALR > SALR

127. The saturated air is said to be stable if :

a) ELR < SALR

b) ELR > DALR

c) ELR =DALR

d) ELR > SALR

128. The dry air is said to be instable if:

a) DALR < ELR

b) DALR > SALR

c) DALR = ELR

d) DALR < SALR

129. The saturated. Air is said to be unstable if :-

a) ELR = SALR

b) ELR < SALR

c) ELR > SALR

130. If the value of ELR is between DALR & SALR The atmosphere said to be 

a) Stable 

b) Unstable

c) Conditionally Stable              

131. If the temperature on the ground is 10*C. What will be the temperature of ascending parcel of dry air after reaching 5000

a) 0 deg

b) -05 deg

c) -2.5 deg

d) 05 deg

132. If the temperature on the ground is 10*C. What will be the temperature of ascending parcel of dry air after reaching 5000.

a) 0 deg

b) -06 deg

c) -2.5 deg

d) 2.5 deg

133. If the ground level temp on 90*f. What will be the temp of ascending dry parcel of air after reaching 10,000

a) 36 f

b) 60 f

c) 70 f

134. If the temperature on the ground level is 15*C, What will be the temp of ascending parcel of saturated air after reaching 5000.

a) 7.5 C

b) -7.5 C

c) 0 deg

d) 5 C

135. If the temperature on the ground level is 10*C, What will be the temp of ascending parcel of saturated air after reaching 7 Km.

a) -25 C

b) -60 C

c) 15 deg

136. If the air temp on the ground is 10*C, What will be the temp of ascending saturated parcel of air after reaching 10,000

a) 63 F

b) 0 deg

c) 36 F

137. Mark the air temp. on the ground is 10*C what will be the temp of ascending parcel of saturated air after reaching 7 km.

a) 63 F

b) 0 deg

c) 36 F

138. Mark the correct statement.

a) Dry air is lighter than moist air.

b) Dry air has greater density then moist air

c) Moist air has greater density than dry air

d) Moist and dry air have same density

139. The close relationship between height and pressure is made use in construction of :-

a) Altimeter

b) A S I

c) V S I

140. Altimeter always measure the height of aircraft

a) AMSL

b) Above datum level of 1013.2 Hpa

c) Above datum level at which its sub-scale has been set to

141. Two a/c flying at the same indicate altitude with their sub-scale altimeter set to 1013.2 Hpa one is flying over cold air mass and other on warm air mass which of the two has greater altitude : -

a) AC flying over warm air mass will have greater altitude

b) AC flying over cold air mass have greater altitude

142. Two aircraft with their sub-scale of altimeter set to 1013.2 Hpa are fling at the same actual height. One is flying over cold mass other is flying over warm air mass.

a) AC over cold air mass has greater indicated altitude 

b) AC over warm air mass has greater indicated altitude

143. AC flying from to low-pressure area, its altimeter will read 

a) Too high

b) Too low

c) Same height

144. AC flying from low to high pressure, altimeter will read 

a) Too high

b) Too low 

c) Same height 

145. In the bay of Bengal during the months of July & August tropical depressions form

a) At the head of the bay

b) Central bay

c) South bay

146. In India Easterly jet stream is found

a) In the winter months along a lat of 2600 n at 12 km

b) During S/W monsoon season at 12kn near lat 1500N

c) During S/W monsoon season at about 16 km near lat 1300N

147. During the month of May & June in India the seasonal low pressure area lies over

a) NE India

b) NW India

c) South bay of Bengal 

148. During S/W monsoon season the upper winds at 40000 ft over south India are 

a) Easterly

b) Westerly

c) South westerly

149. The higher the elevation of a station the difference between QNH QFE of the station will be

a) Greater

b) less

150. An increase of 100 ft in elevation near the earth is associated with decrease of pressure of

a) 100 Hpa

b) 1000 Hpa

c) 3 Hpa

d) 33 Hpa

151. Diurnal pressure variation are most pronounced in 

a) Polar region

b) Middle latitude

c) Tropic areas

152. The average height of Tropopause over equatorial region is 

a) 8 kms

b) 10 kms

c) 16 kms

153. A smooth flight may be expected if the Radiosonde observations show 

a) Temperature inversion

b) Lapse rate termed as dry adiabatic

c) Super adiabatic lapse rate

154. The surface discontinuity between polar Eastarlies & the temperate westerlies is called 

a) Equitorial front

b) Tropause

c) Polar front

155. In SH around a low pressure area winds blow 

a) In a clock wise direction

b) In an anticlockwise direction 

c) Across the isobars towards the center

156. In the NH the direction of the thermal wind is

a) At right angles to the isotherms from high to low temp

b) Along the isotherms with low temperature to the left

c) Along the isotherms with low temperature to the right 

157. The appearance of lenticular clouds enables the pilot to infer the presence of 

a) Warm front 

b) Cold front

c) Standing waves over mountain regions

158. A fog formed by warm moist air flowing over a cold surface is called 

a) Advection fog

b) Radiation fog

c) Frontal fog

159. To avoid a/c icing in flight in cloudy condition a pilot is advised to be guided by optical phinominon & fly through a cloud which is seen to have 

a) Helo

b) Carona 

c) A system of coloured rings called “glory”

160. An altitude in the vicinity of an aerodrome at or below which the vertical position of an aircraft is controlled with reference to QNH is 

a) Transition altitude

b) Transition level

c) Transition layer

161. The lowest level above transition altitude is called 

a) Transition altitude

b) Transition level 

c) Transition layer

162. An air space between transition altitude and transition level is called 

a) Transition altitude

b) Transition level

c) Transition layer

163. The transition altitude may be defined as:-

a) The altitude in the vicinity of an aerodrome, at or below which the vertical position of a is controlled with reference to QNH.

b) The lowest flight level above the transition altitude.

c) The air space between transition altitude and transition level.

164. The transition altitude may be defined as:-

a) The altitude in the vicinity of an aerodrome, at or below which the vertical position of a is controlled with reference to QNH.

b) The lowest flight level above the transition altitude.

c) The air space between transition altitude and transition level.

165. The transition altitude may be defined as:-

a) The altitude in the vicinity of an aerodrome, at or below which the vertical position of a is controlled with reference to QNH.

b) The lowest flight level above the transition altitude.

c) The air space between transition altitude and transition level.

166. The breadth of transition level is generally

a) 1000’

b) 1500’

c) 500’

167. When visibility is reduced to less than 2000 meters but not less than 1000 meters due to dust particles in atmosphere. It is called

a) Mist 

b) Haze

c) Fog

168. When visibility is reduced to less than 2000 meters but not less than 1000 meters due to moisture in atmosphere. It is called

a) Mist 

b) Haze

c) Fog

169. When visibility is reduced to less than 1000 meters in the atmosphere, due to the presence of water particles it is called

a) Mist 

b) Haze

c) Fog

170. Haze may be defined as:

a) When the visibility is reduced less than 2000 meters but not less than 1100 meters due to presence of water particles in the atmosphere

b) When visibility is reduced to less than 2000 meters but not less than 1000 M due to presence of dust particles in the atmosphere

c) When visibility is reduced to less than 1000 M due to presence of water particles in the atmosphere.

d) None 

171. Mist may be defined as:

a) When the visibility is reduced less than 2000 meters but not less than 1100 meters due to presence of water particles in the atmosphere

b) When visibility is reduced to less than 2000 meters but not less than 1000 M due to presence of dust particles in the atmosphere

c) When visibility is reduced to less than 1000 M due to presence of water particles in the atmosphere.

d) None 

172. Fog may be defined as:

a) When visibility is reduced to 2000 meters but not less than 1000 meters due to presence of water particles in the atmosphere

b) When visibility is reduced to 2000 meters 

c) When visibility is reduced to less than 1000 M due to presence of water particles in the atmosphere.

173. R.V.R. is reported when visibility falls below

a) 2000 Meters

b) 1000 Meters

c) 1500 Meters

174. Radiation fog forms:

a) Over land

b) Over sea

c) May from during day

175. The formation of radiation fog depends upon:

a) Heating of the earth during day.

b) Radiation cooling of earth at night.

c) Warm air blowing over cold land surface

176. For formation of radiation fog:

a) There should be sufficient moisture in the air

b) Sky should be cloudy.

c) Sky should be clear.

d) There should be strong wind.

e) There should be light wind & in ‘A’ & ‘C’

177. Radiation fog forms over N. Part of India during:

a) May to June

b) Jan to March

c) Oct to Nov

178. Fill in the Blanks

a) The radiation fog activity increases after the passage of…………….

b) Radiation fog is essentially a ………………. Phenomena.

c) The radiation fog forms over……………………….

d) Radiation fog forms at …………………….. only

e) The advection fog forms due to horizontal movement of air.

179. Advection fog forms

a) During Night only

b) During Day Time only

c) During any time of day or night

180. The essential conditions of the formation of thunder storm are:

a) Steep lapse rate & as in ‘D’ & ‘E’

b) Lapse rate may be below normal

c) Inverted lapse rate

d) Adequate moisture 

e) Trigger action to raise the moist air in the level of instability

181. The trigger action may take place by following process:

a) Clear night sky no wind

b) Orographic Descent 

c) Solar heating during day

182. Mark the correct statement

a) Severe icing occurs in a CB clouds & as in ‘C’

b) CB cloud is not dangerous

c) There are severe up and down draughts in CB clouds

d) Flying condition in CB clouds are smooth

183. The life cycle of CB is usually

a) 7 to 8 hours

b) 2 to 3 hours

c) Only 1 hour

184. The life cycle of CB clouds consisting of

a) 3 stages comprising formation, mature and dissipating

b) Only formation stage

c) Only formative and dissipating stages

185. The activity of CB clouds is severest for

a) 2 hours 

b) 30 to 45 minutes

c) 3 to 4 hours

186. Low amorphous cloud layer of dark gray in colour is called

a) AS

b) NS

c) ST

d) CE

187. A uniform layer of cloud resembling for but not resting on the ground:-

a) AS

b) MS

c) ST

d) CB

188. Icing occurs in:-

a) CI

b) CB

c) NS

d) AC

189. The cloud, which is composed of ice crystals and is white in colour having feather like appearance:-

a) CI

b) CS

c) AC

d) None is correct

190. The condensation trail occurs in

a) CI

b) CS

c) AC

d) None is correct

191. Drizzle occurs with

a) AS

b) ST & as in ‘A’

c) NS

d) CU

192. Showers occurs with:-

a) CU

b) CB

c) AB

d) AC

193. The most dangerous clouds for aviation are

a) CB

b) CU

c) ST

d) AC

194. The air mass which originated from land areas located in the lower latitude are:

a) Warm & dry

b) Warm & Moist

c) Cold & dry

d) Cole & Moist

195. The air mass which originated from land areas located in the lower lat is called:

a) Polar Maritime

b) Polar continental 

c) Tropical maritime

d) Tropical continental 

196. The air mass which originated from sea areas located in the lower lat is: 

a) Warm & dry

b) Warm & Moist

c) Cold & dry

d) Cole & Moist

197. The air masses, which originated from sea areas located in tropical lat is called: 

a) Polar Maritime

b) Polar continental 

c) Tropical maritime

d) Tropical continental 

198. The air mass which originated from land areas located in polar region: 

a) Warm & dry

b) Warm & Moist

c) Cold & dry

d) Cole & Moist

199. The air mass which originated from land areas located in polar region: 

a) Polar Maritime

b) Polar continental 

c) Tropical maritime

d) Tropical continental 

200. The air masses, which originated from sea areas located in tropical lat is called: 

a) Warm & dry

b) Warm & Moist

c) Cold & dry

d) Cole & Moist

201. The air masses, which originated from sea areas located in tropical lat is called: 

a) Polar Maritime

b) Polar continental 

c) Tropical maritime

d) Tropical continental 

202. The front where the warm air replaces the cold air it is called 

a) Warm Front

b) Cold Front

203. The front where cold air replaces the warm air mass, it is called 

a) Warm Front

b) Cold Front

204. The pressure altitude of a place depends only on the atm. 

a) Pressure 

b) Temp 

c) An density

205. NS Clouds form 

a) At cold front

b) At warm front

206. The conditions are always unstable at:

a) Cold front

b) Warm front

207. Precipitation occurs 200 miles ahead of

a) Warm front

b) Cold front

208. If the QNH of a station decreases, heights of different flight levels above the station

a) Decreases

b) Increases

c) Remain constants

209. Precipitation occurs over a belt of 20-30 miles which extend on both side of front;-

a) Cold front

b) Warm front

210. Mark the correct statement

a) At cold front thunder storm occurs

b) At Warm front thunder storm occurs

c) Flying conditions are smooth in Warm front

211. CB clouds occurs in

a) Cold front

b) Warm front

212. Mark the correct statement

a) Cold front may move as line squall.

b) Warm front may move as line squall.

c) Line squall is always associated with a tropical revolving storm.

213. The ratio between the amount of water vapor present in the given sample of air to the amount of water vapor that this sample of air can hold at the same temp, is:-

a) Humidity

b) Relative humidity

c) Dew point

214. The temp in which a given sample of air be cooled at constant pressure and constant water vapor contents in order to become saturated is 

a) Wet bulb temp

b) Dry bulb temp

c) Dew point

215. Lines drawn through places of equal pressure is known as 

a) Isobars 

b) Isotherms

c) Isogonals 

d) Isoclinals

216. Lines drawn through places having equal temperature is called:-

a) Isobars 

b) Isotherms

c) Isogonals 

d) Isoclinals

217. Buy’s ballet law state that if an observer stands with his back to the wind in N-hemisphere.

a) Low exists to his left

b) Low exists to his right

c) High exists to his left

218. If an observer stands with his back to the wind in SH

a) Low exists to his left

b) Low exists to his right

c) High exists to his left

219. If an N-Hemisphere a/c flies from H to L it will experience 

a) ‘S’ Drift

b) ‘P’ Drift

c) Either of the above

220. If an a flies in S-Hemisphere from H to L it will experience 

a) ‘S’ Drift

b) ‘P’ Drift

c) Either of the above

221. If an N-Hemisphere flies from L to H it will experience 

a) S Drift

b) P Drift

c) Either of the above

222. If an ac in SH flies from L to H it will experience 

a) S Drift

b) P Drift

c) Either of the above

223. While flying in NH you experience S Drift, you will be flying 

a) H to L

b) L to H

224. While flying in NH you experience P Drift, you will be flying 

a) H to L

b) L to H

225. While flying in SH you experience S Drift, you will be flying 

a) H to L

b) L to H

226. While flying in SH you experience P Drift, you will be flying 

a) H to L

b) L to H

227. If the QNH is higher than 1013.2 Hpa the altitude of the flight level would be

a) Same as standard

b) Less than standard

c) More than standard

228. Pressure altitude at a place when QNH is above 1013.2 mbs is 

a) More than standard

b) Less than standard

c) Same as standard

229. A change of pressure of 1 Hpa in vertical direction at 6 Km AMSL would correspond be a vertical distance of:

a) 30 Ft

b) Less than 30 Ft

c) More than 30 Ft

230. Katabatic winds occur

a) During day only

b) At any time of day or night

c) At night only

231. Anabatic wind occurs

a) During day only

b) At any time of day or night

c) At night only

232. Mark the correct statement 

a) Anabatic wind is stronger than Katabatic

b) Katabatic wind is stronger than Katabatic

c) Katabatic wind occurs due to down ward movement of air along valley.

d) Katabatic wind occurs due to upward movement of air along valley.

233. When the sub scale of an altimeter is set to 1013.2 Hpa the height 

a) Is the highest over sea level 

b) Is the highest over the aerodrome level 

c) Is the pressure altitude 

234. Tropical revolving storm occur 

a) In the Bay of Bengal in Oct/Nov.

b) In the Arabian sea in Oct/Nov.

c) In the North West of India in May/Jun.

235. While avoiding the center of a cyclone in the Northern Hemisphere advantage can be taken if tail winds by flying to the 

a) Left

b) Right

c) North of center when approaching from any direction

236. Mark the correct statement 

a) The wind blow clock around a low in a N-Hemisphere

b) The wind blow clock wise around a high in S-Hemisphere

c) The wind blow anti clock wise around a low in a N-Hemisphere

d) The wind blow anti clock wise around a low in a S-Hemisphere

237. The deep low is known as 

a) Cyclone

b) Depression

c) Trough

d) Ridge

238. Mark the correct statement 

a) Trough has a frontal characteristics 

b) The axis of trough is known on line of discontinuity 

c) After crossing the axis of trough winds veer.

d) After crossing the axis of trough winds back.

239. The high pressure is Known as

a) Anticyclone 

b) Trough 

c) Col

240. Normally fair weather is associated with

a) Low

b) High

241. Bad weather is associated with

a) Low

b) High

242. A region between two highs and two lows is known as

a) Trough 

b) Ridge

c) Col.

243. A bad weather may be associated with

a) High

b) Low

c) Col.

244. The resultant wind that blows under the influence of pressure gradient and Geostrophic force and cyclostrophic force due curvature of isobars is called:-

a) Gradient wind

b) Geostrophic wind

245. Geostrophic wind is:

a) The resultant wind that blows under the influence of pressure and Geostrophic force

b) The resultant wind that blows under the influence of pressure, gradient geostrophic force and Cyclostrophic force due to curvature of isobars.

246. Geostrophic wind is:

a) The resultant wind that blows under the influence of pressure and Geostrophic force

b) The resultant wind that blows under the influence of pressure, gradient Geostrophic force and Cyclostrophic force due to curvature of isobars.

247. Unit used for measuring atmospheric pressure are:-

a) Lbs/inch.

b) Hpa

c) Inches of 1 Gs

d) Dynes/Sec/Sec

248. The cloud base is reported in

a) Meters 

b) Feet

c) Kilometers

d) Miles

249. Mark the correct statement 

a) DMO’s maintain round the clock watch.

b) MMO’s maintain round the clock watch.

c) SMO’s can provide route forecast without prior information

d)  DMO’s maintain watch down to dusk.

250. During the month of Jan-feb (winter month) rainfall occurs

a) Over Southern tip of India (Central Part of India).

b) Northern parts of India due W.D.

c) In Bengal & Bihar

251. During the month of Jan-feb 

a) Radiation fog occurs over Northern & Central part of India 

b) Radiation fog occurs in southern part of country 

c) Activity of radiation fog increases after the passage of WD in Northern India 

252. Low humidity & temp is the characteristic of:

a) Winter months

b) Hot weather 

c) Monsoon

d) Post monsoon

253. Hot weather season is:-

a) Jan-Feb

b) March-May

c) June- Sep

d) Oct- Nov, Dec

254. During hot weather 

a) WD causes T/S or dust storm over Punjab & Raj.

b) No WD occur in N-Parts of country

c) Track of WD retracts northwards as the season advances.

d) The track of WD is southern most in March

255. Norwesters occurs during

a) Jan-Feb

b) March-May

c) June- Sep

d) Oct, Dec

256. Norwesters occurs during

a) Winter months

b) Hot weather 

c) Monsoon

d) Post monsoon

257. Norwesters occurs during

a) Northern India 

b) Southern India 

c) Central Part of the country 

d) Bengal and Bihar, Orissa and Assam.

258. During hot weather TRS may occur over

a) Madras

b) Ocean Plato

c) Southern tip of India 

d) Bay of Bengal

259. TRS occurs over India seas:

a) Equatorial Region

b) 10-14 deg N

c) 5- 8 deg N

260. Norwesters are:-

a) Weak thunder storms

b) Violent thunder storms 

c) Similar to cyclones but less active

d) The degree of aviation hazards in the Norwesters, is higher than in a cyclone

261. Norwesters normally occur during

a) Morning hours 

b) Afternoon hours

c) Night hours

262. The average life of a Norwesters is:

a) 8 - 9 hours 

b) 2 – 3 hours 

c) 7 hours 

263. Monsoon period occurs

a) Jan to Feb.

b) March to May

c) Jun to September

d) Oct to Dec

264. The rainfall over India during monsoon depends on

a) Higher pressure in Afghanistan 

b) Depression that form in bay of Bengal

c) The position of the axis of trough 

d) Both B & C

265. The rainfall all over the country occur during the monsoon when

a) Axis of trough of low pressure is in the southern-most position 

b) Axis of trough of low pressure is along Himalayas

c) Depressions as formed over Bay of Bengal

266. It is known to be break in monsoon when

a) Axis of trough of low pressure is in the southern-most 

b) Axis of trough of low pressure is along Himalayas foot hills

c) Depressions as formed over Bay of Bengal

267. In India the monsoon currents are:

a) South – westerly currently 

b) SE current

c) NE current

d) Both a & c are correct

268. The monsoon advances with

a) Bay of Bengal currents only

b) Arabian sea currents only

c) Advances as two currents, Bay of Bengal and Arabian sea currents

269. The Se trade winds of Southern-Hemisphere are drawn in as moist currents in N-Hemisphere under the influence of seasonal low over Nw India and these currents are known as

a) Monsoon

b) Trade winds

c) Cyclone winds

270. Maximum W/V in monsoon low moving from Bay of Bengal along axis of trough occur:

a) NE of low

b) SE Sector of low

c) NW Sector of low

d) SE Sector of low

271. Post monsoon weather occurs

a) Jan – Feb

b) March – May

c) Jun – Sep

d) Oct – Nov

272. During post monsoon weather lower pressure occurs over:-

a) Bay of Bengal 

b) NW India 

c) NE India 

d) Central India 

273. During post monsoon higher pressure occurs over:-

a) Bay of Bengal 

b) NW India 

c) NE India 

d) Central India 

274. Post monsoon weather is also known as:

a) NE Monsoon

b) SW Monsoon

c) SE Monsoon

d) Retreating monsoon season

275. Monsoon weather may also be known as:

a) NE Monsoon weather

b) SW Monsoon

c) SE Monsoon

276. TRS occur during ………………………….seasons

277. Norwesters originate from

a) Chota- Nagpur Hills

b) Dacan Plato

c) Sub-mountain district 

d) Khasi hills

278. An air mass becomes unstable when:-

a) Water vapor is removed from lower layers

b) The leading edge of an advancing warm air rises up.

c) The ridge of high pressure.

279. Squall are distinguished from gusts by air:-

a) Shorter duration 

b) Longer duration 

c) Lower wind speed

280. Fronts are found in

a) A thermal low 

b) A mid latitude low pressure area

c) A tropical low pressure area

281. The high pressure area are generally associated with winds which 

a) Back and increases

b) Veers and decreases

c) Veers and increases

282. When a cold front passes, the temperature 

a) Will suddenly rise

b) Will suddenly fall

c) Will remain constant

283. When flying in a stable air mass you can expect

a) Cumulous types of clouds 

b) Stratus types of cloud with smooth flying condition 

c) Stratus type of cloud with turbulence.

284. Decode the following METAR

a) METAR VOMM  301550Z170V24015Kt  8000 FEW 009 SCT 011 BKN 018 26/24 Q1003 NOSIG

b) METAR VIDP  301030Z 21016KT 9999 FEW 017 SCT 044 BKN 080 14/11 Q0991 TEMPO 7000 BKN 015
c) METAR VOTV 301000 0000 1500 R07/P 1500N BR SCT 003 BKN 015 14/12 A 3025 

285. Decode the following  TAF

a) TAF VANP  301506Z 301623 21017G30KT 9999 SCT 015 BKN 030 TEMPO 1623 7000 – RA BKN 012 PROB40 BKN007 BECMG 1719 25008KT

b) TAF VISR 301000Z 301812 VRB03KT 4000 BR NSC 2022 3000 MIFG BECMG 2224 0200 BCFG PROB30 TEMPO 0006 0100FG VV001 BECMG 0710 3500 BR FEW050 BECMG 1012 23010KT 99999

286. What does the following METAR indicate 00012KT 1500 R05/P1500

a) Visibility is 1500 meters for R/W 05 S/W is 000 at 15 kt

b) Surface wind 000 at 12 kt R/W in use 05 with RVR 1500 meters 

c) S/W 00012 Kt visibility 1500 meter, RVR R/W 05 more than 1500 Meter

287. On a met chart the weather indicated at station A is

a) Surface wind 080/10 total clouds 4/8 medium & low clouds

b) Surface wind 260/10, QNH 29.15 inches

c) Visibility 3500 meter, 3/8 Sc at 500 m

288. On a chart the weather indicated at station B is

a) Overcast with rain & visibility 250 m

b) Overcast, rain & temperature 21.5 C

c) Overcast, rain & squall

289. On a met chart the weather indicated at station C is

a) 4/8 Ac & 3/8 Cb visibility 5000 m

b) 7/8 Cloud cover with Cb base at 300 m

c) Overcast raining with Cb base at 300 m

290. In the above stations A, B, C the highest RH is at station 

a) A

b) B

c) C

291. In the above stations A, B, C the maximum change in pressure is at 

a) A

b) B

c) C
